### Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

5,048 4

1,010

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
AI CLARK	Scottish Liberal Democrats	1,161
Fergus Ramsay COOK	Scottish Greens - Think Global Act Local	335
Rosalind GARTON	Scottish Labour Party	422
Robin LAWSON	Scottish Conservative and Unionist	742
Jane Ann LISTON	Scottish Liberal Democrats	1,265
Ann VERNER	Scottish National Party (SNP)	1,123
	Total	5,048

Candidate Al CLARK Elected with 1,161 votes, being in excess of the quota of 1,010 Candidate Jane Ann LISTON Elected with 1,265 votes, being in excess of the quota of 1,010 Candidate Ann VERNER Elected with 1,123 votes, being in excess of the quota of 1,010

Ward 18 - St. Andrews

# Transfers Report

This report contains the transfers results.

# Stage 2 - Surplus of Jane Ann LISTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Fergus Ramsay COOK	252	0.20158	50.79816
Transfer to Rosalind GARTON	354	0.20158	71.35932
Transfer to Robin LAWSON	292	0.20158	58.86136
No further preference	367	0.20158	73.97986
Not transferred due to rounding			0.00130
	Total		255.00000

# Transfers Report

This report contains the transfers results.

# Stage 3 - Surplus of Al CLARK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Fergus Ramsay COOK	171	0.13006	22.24026
Transfer to Rosalind GARTON	326	0.13006	42.39956
Transfer to Robin LAWSON	313	0.13006	40.70878
No further preference	351	0.13006	45.65106
Not transferred due to rounding			0.00034
	Total		151.00000

# Transfers Report

This report contains the transfers results.

# Stage 4 - Surplus of Ann VERNER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Fergus Ramsay COOK	600	0.10062	60.37200
Transfer to Rosalind GARTON	184	0.10062	18.51408
Transfer to Robin LAWSON	28	0.10062	2.81736
No further preference	311	0.10062	31.29282
Not transferred due to rounding			0.00374
	Total		113.00000

### Transfers Report

This report contains the transfers results.

### Stage 5 - Exclusion of Fergus Ramsay COOK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Rosalind GARTON	228	1.00000	228.00000
Transfer to Robin LAWSON	8	1.00000	8.00000
Transfer to Rosalind GARTON	124	0.20158	24.99592
Transfer to Robin LAWSON	27	0.20158	5.44266
Transfer to Rosalind GARTON	74	0.13006	9.62444
Transfer to Robin LAWSON	13	0.13006	1.69078
Transfer to Rosalind GARTON	252	0.10062	25.35624
Transfer to Robin LAWSON	14	0.10062	1.40868
No further preference	99	1.00000	99.00000
No further preference	101	0.20158	20.35958
No further preference	84	0.13006	10.92504
No further preference	334	0.10062	33.60708
Not transferred due to rounding			0.00000
	Total		468.41042

### Transfers Report

This report contains the transfers results.

# Stage 6 - Exclusion of Rosalind GARTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robin LAWSON	188	1.00000	188.00000
Transfer to Robin LAWSON	176	0.20158	35.47808
Transfer to Robin LAWSON	149	0.13006	19.37894
Transfer to Robin LAWSON	166	0.10062	16.70292
No further preference	462	1.00000	462.00000
No further preference	302	0.20158	60.87716
No further preference	251	0.13006	32.64506
No further preference	270	0.10062	27.16740
Not transferred due to rounding			0.00000
	Total		842.24956